AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

■ FEDERAL CANDIDATE

☐ STATE/LOCAL CANDIDATE

net

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	Location:			Date:	7/19/2018
I, Buying	Time LLC				,
being/on beh	alf of: Brind	lisi for Co	ngress		_,,
a legally qua	lified candidat	e of the Del	mocratic		
political part	y for the office	of: NY C	D-22		
in the Gen	eral				
and the state of t	e held on: No	vember 6	6, 2018		
do hereby re	quest station (ime as follow	/ S;		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		AS	ORDERED		

Attach proposed schedule with charges (if available): \$

I represent that the payment for the above described broadcast time has been furnished by:

Brindisi for Congress

PO Box 165, Utica, NY 13503

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Jennifer May

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

7/19/2018	() Is less le	
Date	Signature	
To Be S	Signed By Station Representative	
☐ Accepted	☐ Accepted in Part	☐ Rejected
Signature	Printed Name	Title

FEDERAL CANDIDATE CERTIFICATION

In Order For Federal Candidates To Receive The Lowest Unit Charge During A Political Window, The Following Certification Is Required:

Anthony.	J. Brindi	51	
name of federal cardidate programming to be broaded	or authorized committee	e) hereby certify that	the ement:
₩ do	88	☐ does not	-
refer to an opposing can programming that does ref	didate (check applicabler to an opposing candle	le box). I further ce date:	ertify that for the
(check applicable box)			
☐ the radio programming identifies the candidate, the broadcast.	contains a personal au e office being sought, ar	dio statement by the nd that the candidate	candidate that has approved
the television program image of the candidate for displayed printed stateme broadcast, and that the ca the broadcast.	a duration of at least fo nt Identifying the candid	ur seconds, and a sir ate, that the candidat	multaneously te approved the
authy	Buil	w	
signat	ure of candidate or au	horized committee	数据的 是1000年度
Anthony	Brinds		7/19/18
de servicio de la companya del companya de la companya del companya de la company	printed name	Service and Control of the Control o	date



5936 Smith Hill Road Utica, NY 13502

BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644) Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059) Brand Political Candidate (10725)

Salesperson Katz Washington D.C., (1019) Sales Office Katz Continental - Washington D.C.

Cathie, Herrick, **Buyer Name** Phone/Fax (202) 872-5880 / CPE 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard Comments Political Separation: 30 **Date Entered** 08/27/18 **Last Modified** 08/27/18

Matthew Talarico **Entered By**

CO-OP

ECR26136988 Headline #

Demo

Order Type Normal Package Deal

Commission % 15.00 Commission \$2,501.25 **Net Total** \$14,173.75

Sales Tax

NBC-Utica (WKTV) Rate By Broadcast Month Spots Sep. 2018 164 \$16,675.00 Grand Total: \$16,675.00 164

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We Th	n Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	6A- 7A (EST)			2					2	\$125.00	\$250.00	NBC-Utica (WKTV)	Newschannel 2 Sunrise	8/27/18
2.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	6A- 7A (EST)				2				2	\$125.00	\$250.00	NBC-Utica (WKTV)	Newschannel 2 Sunrise	8/27/18
3.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	6A- 7A (EST)				2				2	\$125.00	\$250.00	NBC-Utica (WKTV)	Newschannel 2 Sunrise	8/27/18
4.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	6A- 7A (EST)					2			2	\$125.00	\$250.00	NBC-Utica (WKTV)	Newschannel 2 Sunrise	8/27/18
5.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	6A- 7A (EST)		2						2	\$125.00	\$250.00	NBC-Utica (WKTV)	Newschannel 2 Sunrise	8/27/18
6.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	7A- 9A (EST)			4					4	\$125.00	\$500.00	NBC-Utica (WKTV)	Today Show	8/27/18
7.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	7A- 9A (EST)				4				4	\$125.00	\$500.00	NBC-Utica (WKTV)	Today Show	8/27/18
8.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	7A- 9A (EST)				4				4	\$125.00	\$500.00	NBC-Utica (WKTV)	Today Show	8/27/18
9.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	7A- 9A (EST)					4			4	\$125.00	\$500.00	NBC-Utica (WKTV)	Today Show	8/27/18
10.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	7A- 9A (EST)		4						4	\$125.00	\$500.00	NBC-Utica (WKTV)	Today Show	8/27/18
11.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	5A- 6A (EST)			2					2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Daybreak	8/27/18
12.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	5A- 6A (EST)				1				1	\$50.00	\$50.00	NBC-Utica (WKTV)	Newschannel 2 Daybreak	8/27/18
13.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	5A- 6A (EST)				2				2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Daybreak	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

Brand Political Candidate (10725)
Salesperson Katz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

 Buyer Name
 Cathie,Herrick,

 Phone/Fax
 (202) 872-5880 /

 CPE
 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No

Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

 NBC-Utica (WKTV)

 By Broadcast Month
 Spots
 Rate

 Sep. 2018
 164
 \$16,675.00

 Grand Total:
 164
 \$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We TI	h Fr	Sa	Su Spots	Rate	Total	Station	Comments	Entered
14.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	5A- 6A (EST)					1		1	\$50.00	\$50.00	NBC-Utica (WKTV)	Newschannel 2 Daybreak	8/27/18
15.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	5A- 6A (EST)		2					2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Daybreak	8/27/18
16.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	12P- 1P (EST)			2				2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Noon	8/27/18
17.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	12P- 1P (EST)				2			2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Noon	8/27/18
18.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	12P- 1P (EST)				2			2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Noon	8/27/18
19.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	12P- 1P (EST)					2		2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Noon	8/27/18
20.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	12P- 1P (EST)		2					2	\$50.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 Noon	8/27/18
21.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	11A- 12P (EST)			2				2	\$30.00	\$60.00	NBC-Utica (WKTV)	Rachael Ray	8/27/18
22.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	11A- 12P (EST)				2			2	\$30.00	\$60.00	NBC-Utica (WKTV)	Rachael Ray	8/27/18
23.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	11A- 12P (EST)				2			2	\$30.00	\$60.00	NBC-Utica (WKTV)	Rachael Ray	8/27/18
24.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	11A- 12P (EST)					2		2	\$30.00	\$60.00	NBC-Utica (WKTV)	Rachael Ray	8/27/18
25.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	11A- 12P (EST)		2					2	\$30.00	\$60.00	NBC-Utica (WKTV)	Rachael Ray	8/27/18
26.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	2P- 3P (EST)			2				2	\$30.00	\$60.00	NBC-Utica (WKTV)	Dr. Phil	8/27/18
27.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	2P- 3P (EST)				2			2	\$30.00	\$60.00	NBC-Utica (WKTV)	Dr. Phil	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

Brand Political Candidate (10725)
Salesperson Katz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

Buyer Name Cathie, Herrick,

 Phone/Fax
 (202) 872-5880 /

 CPE
 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No
Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

NBC-Utica (WKTV)		
By Broadcast Month	Spots	<u>Rate</u>
Sep. 2018	164	\$16,675.00
Grand Total:	164	\$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We Th	n Fr	Sa	Su Spots	Rate	Total	Station	Comments	Entered
28.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	2P- 3P (EST)				2			2	\$30.00	\$60.00	NBC-Utica (WKTV)	Dr. Phil	8/27/18
29.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	2P- 3P (EST)					2		2	\$30.00	\$60.00	NBC-Utica (WKTV)	Dr. Phil	8/27/18
30.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	2P- 3P (EST)		2					2	\$30.00	\$60.00	NBC-Utica (WKTV)	Dr. Phil	8/27/18
31.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	10A- 11A (EST)			2				2	\$25.00	\$50.00	NBC-Utica (WKTV)	Today with Kathie Lee & Hoda-NBC	8/27/18
32.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	10A- 11A (EST)				2			2	\$25.00	\$50.00	NBC-Utica (WKTV)	Today with Kathie Lee & Hoda-NBC	8/27/18
33.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	10A- 11A (EST)				2			2	\$25.00	\$50.00	NBC-Utica (WKTV)	Today with Kathie Lee & Hoda-NBC	8/27/18
34.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	10A- 11A (EST)					2		2	\$25.00	\$50.00	NBC-Utica (WKTV)	Today with Kathie Lee & Hoda-NBC	8/27/18
35.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	10A- 11A (EST)		2					2	\$25.00	\$50.00	NBC-Utica (WKTV)	Today with Kathie Lee & Hoda-NBC	8/27/18
36.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	1P- 2P (EST)			2				1	\$75.00	\$75.00	NBC-Utica (WKTV)	Days of Our Lives-NBC	8/27/18
37.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	1P- 2P (EST)				2			2	\$75.00	\$150.00	NBC-Utica (WKTV)	Days of Our Lives-NBC	8/27/18
38.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	1P- 2P (EST)				2			1	\$75.00	\$75.00	NBC-Utica (WKTV)	Days of Our Lives-NBC	8/27/18
		, ,	+-		,								7.5.55	1,1000		.,	-,-

CON	FIR	RMATION C	ONTR	ACT

		OOM INWATION	1 0011111/101		
Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:	



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

BrandPolitical Candidate (10725)SalespersonKatz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

 Buyer Name
 Cathie,Herrick,

 Phone/Fax
 (202) 872-5880 /

 CPE
 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No

Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

 NBC-Utica (WKTV)

 By Broadcast Month
 Spots
 Rate

 Sep. 2018
 164
 \$16,675.00

 Grand Total:
 164
 \$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We Th	Fr	Sa	Su Spot	Rate	Total	Station	Comments	Entered
39.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	1P- 2P (EST)					2			2 \$75.00	\$150.00	NBC-Utica (WKTV)	Days of Our Lives-NBC	8/27/18
40.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	1P- 2P (EST)		2						2 \$75.00	\$150.00	NBC-Utica (WKTV)	Days of Our Lives-NBC	8/27/18
41.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	9A- 10A (EST)			2					2 \$50.00	\$100.00	NBC-Utica (WKTV)	Megyn Kelly Today-NBC	8/27/18
42.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	9A- 10A (EST)				2				2 \$50.00	\$100.00	NBC-Utica (WKTV)	Megyn Kelly Today-NBC	8/27/18
43.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	9A- 10A (EST)				2				2 \$50.00	\$100.00	NBC-Utica (WKTV)	Megyn Kelly Today-NBC	8/27/18
44.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	9A- 10A (EST)					2			2 \$50.00	\$100.00	NBC-Utica (WKTV)	Megyn Kelly Today-NBC	8/27/18
45.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	9A- 10A (EST)		2						2 \$50.00	\$100.00	NBC-Utica (WKTV)	Megyn Kelly Today-NBC	8/27/18
46.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	3P- 4P (EST)			2					2 \$20.00	\$40.00	NBC-Utica (WKTV)	Judge Judy/Judge Judy	8/27/18
47.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	3P- 4P (EST)				2				2 \$20.00	\$40.00	NBC-Utica (WKTV)	Judge Judy/Judge Judy	8/27/18
48.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	3P- 4P (EST)				2				2 \$20.00	\$40.00	NBC-Utica (WKTV)	Judge Judy/Judge Judy	8/27/18
49.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	3P- 4P (EST)					2			2 \$20.00	\$40.00	NBC-Utica (WKTV)	Judge Judy/Judge Judy	8/27/18
50.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	3P- 4P (EST)		2						2 \$20.00	\$40.00	NBC-Utica (WKTV)	Judge Judy/Judge Judy	8/27/18
51.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	4P- 5P (EST)			1					1 \$30.00	\$30.00	NBC-Utica (WKTV)	Dr. Oz	8/27/18
52.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	4P- 5P (EST)				1				1 \$30.00	\$30.00	NBC-Utica (WKTV)	Dr. Oz	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

Brand Political Candidate (10725)
Salesperson Katz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

Buyer Name Cathie, Herrick,

Phone/Fax (202) 872-5880 / CPE 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No

Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

 NBC-Utica (WKTV)

 By Broadcast Month
 Spots
 Rate

 Sep. 2018
 164
 \$16,675.00

 Grand Total:
 164
 \$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We TI	n Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
53.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	4P- 5P (EST)				1				1	\$30.00	\$30.00	NBC-Utica (WKTV)	Dr. Oz	8/27/18
54.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	4P- 5P (EST)					1			1	\$30.00	\$30.00	NBC-Utica (WKTV)	Dr. Oz	8/27/18
55.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	4P- 5P (EST)		1						1	\$30.00	\$30.00	NBC-Utica (WKTV)	Dr. Oz	8/27/18
56.0	Normal Line / SPOT	09/02/18-09/02/18	1		6P- NEWSCHANNEL 2 SUNDAY							1	1	\$125.00	\$125.00	NBC-Utica (WKTV)	Newschannel 2-Weekend	8/27/18
57.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	5P- 6P (EST)			1					1	\$125.00	\$125.00	NBC-Utica (WKTV)	Live at Five	8/27/18
58.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	5P- 6P (EST)				1				1	\$125.00	\$125.00	NBC-Utica (WKTV)	Live at Five	8/27/18
59.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	5P- 6P (EST)				1				1	\$125.00	\$125.00	NBC-Utica (WKTV)	Live at Five	8/27/18
60.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	5P- 6P (EST)					1			1	\$125.00	\$125.00	NBC-Utica (WKTV)	Live at Five	8/27/18
61.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	5P- 6P (EST)		1						1	\$125.00	\$125.00	NBC-Utica (WKTV)	Live at Five	8/27/18
62.0	Normal Line / SPOT	09/01/18-09/01/18	1		6P- NEWSCHANNEL 2 SATURDAY 6						1		1	\$125.00	\$125.00	NBC-Utica (WKTV)	Newschannel 2-Weekend	8/27/18
63.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	6P- 6:30P (EST)			1					1	\$275.00	\$275.00	NBC-Utica (WKTV)	Newschannel 2 at 6	8/27/18
64.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	6P- 6:30P (EST)				1				1	\$275.00	\$275.00	NBC-Utica (WKTV)	Newschannel 2 at 6	8/27/18
65.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	6P- 6:30P (EST)				1				1	\$275.00	\$275.00	NBC-Utica (WKTV)	Newschannel 2 at 6	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

BrandPolitical Candidate (10725)SalespersonKatz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

 Buyer Name
 Cathie,Herrick,

 Phone/Fax
 (202) 872-5880 /

 CPE
 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No
Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

NBC-Utica (WKTV)		
By Broadcast Month	Spots	<u>Rate</u>
Sep. 2018	164	\$16,675.00
Grand Total:	164	\$16,675,00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We T	n Fr	Sa	Su S	Spots	Rate	Total	Station	Comments	Entered
66.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	6P- 6:30P (EST)					1			1	\$275.00	\$275.00	NBC-Utica (WKTV)	Newschannel 2 at 6	8/27/18
67.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	6P- 6:30P (EST)		1						1	\$275.00	\$275.00	NBC-Utica (WKTV)	Newschannel 2 at 6	8/27/18
68.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	7:30P- 8P (EST)			1					1	\$175.00	\$175.00	NBC-Utica (WKTV)	Jeopardy	8/27/18
69.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	7:30P- 8P (EST)				1				1	\$175.00	\$175.00	NBC-Utica (WKTV)	Jeopardy	8/27/18
70.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	7:30P- 8P (EST)				1				1	\$175.00	\$175.00	NBC-Utica (WKTV)	Jeopardy	8/27/18
71.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	7:30P- 8P (EST)					1			1	\$175.00	\$175.00	NBC-Utica (WKTV)	Jeopardy	8/27/18
72.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	7:30P- 8P (EST)		1						1	\$175.00	\$175.00	NBC-Utica (WKTV)	Jeopardy	8/27/18
73.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	7P- 7:30P (EST)			1					1	\$175.00	\$175.00	NBC-Utica (WKTV)	Wheel of Fortune	8/27/18
74.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	7P- 7:30P (EST)				1				1	\$175.00	\$175.00	NBC-Utica (WKTV)	Wheel of Fortune	8/27/18
75.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	7P- 7:30P (EST)				1				1	\$175.00	\$175.00	NBC-Utica (WKTV)	Wheel of Fortune	8/27/18
76.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	7P- 7:30P (EST)					1			1	\$175.00	\$175.00	NBC-Utica (WKTV)	Wheel of Fortune	8/27/18
77.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	7P- 7:30P (EST)		1						1	\$175.00	\$175.00	NBC-Utica (WKTV)	Wheel of Fortune	8/27/18
78.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	10P- NBC DATELINE NBC					1			1	\$250.00	\$250.00	NBC-Utica (WKTV)	DATELNE FR-NBC	8/27/18
79.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	10P- NBC DATELINE NBC					1			1	\$250.00	\$250.00	NBC-Utica (WKTV)	DATELNE FR-NBC	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON. DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

ProductPolitical - Candidate (1059)BrandPolitical Candidate (10725)SalespersonKatz Washington D.C., (10

Sales Office Katz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

 Buyer Name
 Cathie,Herrick,

 Phone/Fax
 (202) 872-5880 /

 CPE
 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No

Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

 NBC-Utica (WKTV)

 By Broadcast Month
 Spots
 Rate

 Sep. 2018
 164
 \$16,675.00

 Grand Total:
 164
 \$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

		Sec	Length	Run Times	3P VV	MO	ΙU	We Th	FF	Sa	Su S	pots	Rate	Total	Station	Comments	Entered
ormal Line / SPOT	08/30/18-08/30/18	1		10P- NBC LAW & ORDER: SVU				2				2	\$350.00	\$700.00	NBC-Utica (WKTV)	Law & Order:SVU	8/27/18
ormal Line / SPOT	09/02/18-09/02/18	1	:30	7P- NBC DATELINE NBC							2	2	\$300.00	\$600.00	NBC-Utica (WKTV)	Dateline Sun-NBC	8/27/18
ormal Line / SPOT	08/28/18-08/28/18	1					2					2	\$700.00	\$1,400.00	NBC-Utica (WKTV)	America's Got Talent Tue-NBC	8/27/18
ormal Line / SPOT	09/01/18-09/01/18	1								1		1	\$100.00	\$100.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	08/28/18-08/28/18	1	:30	11P- 11:35P (EST)			1					1	\$150.00	\$150.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	08/29/18-08/29/18	1	:30	11P- 11:35P (EST)				1				1	\$150.00	\$150.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	08/30/18-08/30/18	1	:30	11P- 11:35P (EST)				1				1	\$150.00	\$150.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	08/31/18-08/31/18	1	:30	11P- 11:35P (EST)					1			1	\$150.00	\$150.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	09/03/18-09/03/18	1	:30	11P- 11:35P (EST)		1						1	\$150.00	\$150.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	09/02/18-09/02/18	1									1	1	\$125.00	\$125.00	NBC-Utica (WKTV)	Newschannel 2 at 11	8/27/18
ormal Line / SPOT	09/01/18-09/01/18	1								2		2	\$125.00	\$250.00	NBC-Utica (WKTV)	Saturday Night Live-NBC	8/27/18
0 0 0 0	rmal Line / SPOT rmal Line / SPOT	rmal Line / SPOT 08/28/18-08/28/18 rmal Line / SPOT 09/01/18-09/01/18 rmal Line / SPOT 08/28/18 rmal Line / SPOT 08/28/18 rmal Line / SPOT 08/29/18-08/29/18 rmal Line / SPOT 08/30/18-08/30/18 rmal Line / SPOT 08/31/18-08/31/18 rmal Line / SPOT 09/03/18-09/03/18 rmal Line / SPOT 09/03/18-09/02/18	rmal Line / SPOT 08/28/18-08/28/18 1 rmal Line / SPOT 09/01/18-09/01/18 1 rmal Line / SPOT 08/28/18-08/28/18 1 rmal Line / SPOT 08/29/18-08/29/18 1 rmal Line / SPOT 08/30/18-08/30/18 1 rmal Line / SPOT 08/31/18-08/31/18 1 rmal Line / SPOT 09/03/18-09/03/18 1 rmal Line / SPOT 09/03/18-09/03/18 1 rmal Line / SPOT 09/02/18-09/02/18 1	rmal Line / SPOT 09/02/18-09/02/18 1 :30 rmal Line / SPOT 08/28/18-08/28/18 1 :30 rmal Line / SPOT 09/01/18-09/01/18 1 :30 rmal Line / SPOT 08/28/18-08/28/18 1 :30 rmal Line / SPOT 08/29/18-08/29/18 1 :30 rmal Line / SPOT 08/30/18-08/30/18 1 :30 rmal Line / SPOT 08/31/18-08/31/18 1 :30 rmal Line / SPOT 09/03/18-09/03/18 1 :30 rmal Line / SPOT 09/02/18-09/02/18 1 :30 rmal Line / SPOT 09/02/18-09/02/18 1 :30 rmal Line / SPOT 09/01/18-09/01/18 1 :30	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P 11P- NEWSCHANNEL 2 SUN 11P- NEWSCHANNEL 2 SUN 11P- NEWSCHANNEL 2 SUN	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- 11:35P (EST) rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- 11:35P (EST)	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- 11:35P (EST) 1 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- 11:35P (EST) 1	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- NEWSCHANNEL 2 S	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P-	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P-	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 1P- NEWSCHA	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 2 rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 2 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 1 1 1 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 2 \$300.00 rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 2 \$700.00 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 1 1 \$100.00 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- N	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 2 \$300.00 \$600.00 rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 2 \$700.00 \$1,400.00 rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 1 \$100.00 \$100.00 rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 rmal Line / SPOT 09/02/18-09/02/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P- NE	rmal Line / SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 2 \$300.00 \$600.00 NBC-Utica (WKTV) rmal Line / SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT TALENT 2 2 \$700.00 \$1,400.00 NBC-Utica (WKTV) rmal Line / SPOT 09/01/18-09/01/18 1 :30 11P- NEWSCHANNEL 2 SATURDAY 11 1 1 \$100.00 \$100.00 NBC-Utica (WKTV) rmal Line / SPOT 08/28/18-08/28/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 NBC-Utica (WKTV) rmal Line / SPOT 08/29/18-08/29/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 NBC-Utica (WKTV) rmal Line / SPOT 08/30/18-08/30/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 NBC-Utica (WKTV) rmal Line / SPOT 08/31/18-08/31/18 1 :30 11P- 11:35P (EST) 1 1 \$150.00 \$150.00 NBC-Utica (WKTV) rmal Line / SPOT 09/03/18-09/03/18 1 :30 11P- NEWSCHANNEL 2 SUN 11P	Trial Line SPOT 09/02/18-09/02/18 1 :30 7P- NBC DATELINE NBC 2 2 \$300.00 \$600.00 NBC-Utica (WKTV) Dateline Sun-NBC Trial Line SPOT 08/28/18-08/28/18 1 :30 8P- NBC AMERICA'S GOT 2 2 \$700.00 \$1,400.00 NBC-Utica (WKTV) America'S GOT Talent Tue-NBC Tue-NBC Tue-NBC

	SON INVIATION SONTIAGE											
Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:								



BUYING TIME LLC 650 MASSACHUSETTS AVE WASHINGTON, DC 20001

Contract # 36641

Schedule Dates 08/28/18-09/03/18

Advertiser POL-BRINDISI FOR NY-22 (3644)

Agency BUYING TIME LLC (1018)

Product Political - Candidate (1059)

BrandPolitical Candidate (10725)SalespersonKatz Washington D.C., (1019)

Sales Office Katz Continental - Washington D.C.

Buyer Name Cathie, Herrick,

Phone/Fax (202) 872-5880 / CPE 1056/1070/6658

Account Types National/Political Agency

Billing Type Standard

Comments Political Separation: 30

 Date Entered
 08/27/18

 Last Modified
 08/27/18

Entered By Matthew Talarico

CO-OP No

Headline # ECR26136988

Demo

Order Type Normal

Package Deal

 Commission %
 15.00

 Commission
 \$2,501.25

 Net Total
 \$14,173.75

Sales Tax

NBC-Utica (WKTV)		
By Broadcast Month	Spots	<u>Rate</u>
Sep. 2018	164	\$16,675.00
Grand Total:	164	\$16,675.00

INCOMPLETE CONTRACT

Due to: Pending line Approvals

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We Th	n Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
91.0	Normal Line / SPOT	08/28/18-08/28/18	1	:30	11:35P- 12:35A (EST)			2					2	\$80.00	\$160.00	NBC-Utica (WKTV)	Tonight Show-NBC	8/27/18
92.0	Normal Line / SPOT	08/29/18-08/29/18	1	:30	11:35P- 12:35A (EST)				2				2	\$80.00	\$160.00	NBC-Utica (WKTV)	Tonight Show-NBC	8/27/18
93.0	Normal Line / SPOT	08/30/18-08/30/18	1	:30	11:35P- 12:35A (EST)				1				1	\$80.00	\$80.00	NBC-Utica (WKTV)	Tonight Show-NBC	8/27/18
94.0	Normal Line / SPOT	08/31/18-08/31/18	1	:30	11:35P- 12:35A (EST)					1			1	\$80.00	\$80.00	NBC-Utica (WKTV)	Tonight Show-NBC	8/27/18
95.0	Normal Line / SPOT	09/03/18-09/03/18	1	:30	11:35P- 12:35A (EST)		2						2	\$80.00	\$160.00	NBC-Utica (WKTV)	Tonight Show-NBC	8/27/18
96.0	Normal Line / SPOT	09/02/18-09/02/18	1		9A- NEWSCHANNEL 2 SUNDAY TODAY							1	1	\$50.00	\$50.00	NBC-Utica (WKTV)	Newschannel 2 Weekend Today	8/27/18
97.0	Normal Line / SPOT	09/01/18-09/01/18	1		9A- NEWSCHANNEL 2 SATURDAY TODAY						1		1	\$50.00	\$50.00	NBC-Utica (WKTV)	Newschannel 2 Weekend Today	8/27/18
98.0	Normal Line / SPOT	09/02/18-09/02/18	1	:30	8A- NBC SUNDAY TODAY							1	1	\$60.00	\$60.00	NBC-Utica (WKTV)	Sunday Today	8/27/18
99.0	Normal Line / SPOT	09/01/18-09/01/18	1		7A- NBC SATURDAY TODAY SHOW						1		1	\$50.00	\$50.00	NBC-Utica (WKTV)	Today Show	8/27/18
100.0	Normal Line / SPOT	09/02/18-09/02/18	1	:30	10A- NBC MEET THE PRESS							1	1	\$200.00	\$200.00	NBC-Utica (WKTV)	Meet The Press	8/27/18
101.0	Normal Line / SPOT	08/31/18-08/31/18	1		8P- NBC AMERICAN NINJA WARRIOR					1			1	\$250.00	\$250.00	NBC-Utica (WKTV)	Midnight, Texas-NBC MKG to Ninja Warrior	8/27/18

Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:
, ,		·		